AGRICULTURAL MARKET ACCESS ”CREDIT OPTION” – CONSTRAINED FLEXIBILITY WITHIN THE BAND

Members may be credited for making deeper cuts than required by the linear formula 

(option 1) subject to the following constraints:

· would apply to a limited number of tariff lines to be negotiated,

· a minimum cut would be set

· no accumulation of credits allowed (line by line),

· no transportation of credits between the tiers,

· credits earned should be less than the extra effort made, thereby resulting in a higher average cut

The credit could be calculated as follows:


· Tariff after required cut within the band (tb) –  Tariff after real cut (tr) = Extra effort (e)

· Credit (c) =  e * y

where y is a factor  (1 to be negotiated. If y =1, members are fully credited for their extra effort. When y(1, the credit will be less than the extra effort. This means that any application of the credit system will have a cost, and the resulting average cut will be higher when applying the credit system then compared to a straight cut.

The credit could then be used to reduce the cut in another tariff by adding the credit to a tariff which has already been reduced by the required amount. 
The  minimum cut could be defined as a percentage of the formula cut.
Example 1

Band requiring 45% cut, y is set at 0.8 and the minimum cut is set at 25% of the formula cut, (i.e. 25% of 45 = 11.25%):

t0 = 90% (original tariff)

tb =  49,5% (tariff with 45% cut)

tr  =  18% (tariff with 80% cut)

e  = tb – tr = 31.5%  (the ”extra effort” upon which the credit is based)

c  = 31.5% * 0.8 = 25.2%

This 25.2% credit could be used against another tariff line as follows:

t01 = 110%

tb1 = 60.5% (tariff with 45% cut)

tb1 + c = 60.5 + 25.2 = 85.7% (adjusted tariff using credit) 

In this case the adjusted tariff goes beyond the minimum cut (i.e. 110 cut by 11.25% = 97.6%) even when full use of the credit is made .

Example 2

Band requiring 37% cut, y is set at 0.9 and the minimum cut is 25% of the formula cut, (i.e. 25% of 37 = 9.25%):

t0 = 65% (original tariff)

tb =   40.95% (tariff with 37% cut)

tr =   19.5% (tariff with 70% cut)

e = tb – tr = 21.45%  (the ”extra effort” upon which the credit is based)

c = e * 0.9 = 19.3%

This 19.3% credit could be used against another tariff line as follows:

t01 = 55%

tb1 = 34.65% (tariff with 37% cut)

tb1 + c =  34.65% + 19.3% = 53.95% (adjusted tariff using credit)

In this case, the adjusted tariff is above the minimum cut  so it would have to be further reduced to 49.9% (i.e. 55% cut by 9.25%).

